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By Mark rarerz

Car. rt. line feed subr,

Input char subr,

Check for "L"

If "L" then input next char,
Error subr.

Input char. subr,

Check for "I

If """ then input next char.,
irror subr.

Input char. SR

Check for "5"

I[f "5" then input next char,
Error SR

Input char. SR

Check for “T"

Lf "T" then proceed with program
Error SR

Print space char, SR

Addr, input SR, Input start Addr.
Lead A with start addr, low byte
atore low byte at 04Bl

Load A with start addr. high byte

Store high byte at 04B2

Space

Input end addr.

Load A with end addr, low byte
Store low byte at D4B3

Lead A with end addr. high byte
Store high Lyte at 04D4

Inc end low byte

Load A with end low byte

Check to see if INC made byte "OOV
If not, continue with prog.

If yes, then INC high byte

Clear ¥ reg. for bytes/line counter
These HOP's are here because [
made a boo-boo

CR LF SR

Load A with start high byte

SR to type byte in hex

Load A with start low byte

Type start low in hex

Space

low

et

STA )] DATE Plug ints
P
LDA AD 04B2 Load A with start high
STA 80 04?/’?:3’1259,
Lba Al ___; Get brte to list
JSR 20 72B1 Type byte
JSR 20 7377 Space
INC EL 0481 IKC start low byte
LDA Al Q4B} Load A with start low byte
CHP co ao Check if INC made byte "00"
BNE Do 03 If not, skip next instr.
THC EE 0482 1f sa, INC start high Lyte
LDA AL 0481 Load A with start low byte
CHP cn 04B3 Compare with end low byte
ENE Do 0B If not equal skip next 4 instr,
LDA AD 0482 Load A with start high byte
o1 ch 04 D4 Compare with end high byte
ENE Do 03 if not equal skip next instr.
JHP 4C 7086 End list, JMP to location to return etrl to TIM
INY ca INC bytes per line counter = Y re,.
CPY co 10 Che for 16th byte
BNE 00 03 If not skip next JMP
JHP 4C D458 JMP to "™ print next line
JHP 4c D471 JMP to ¥ print next byte
o0, 00,00, 00 These locations store start and end addr.
JSR 20 7377 Space, start of Error SR
LDA A9 45 Load A with "E"
JSR 20 7216 ‘int YE" (print SR)
LDA 52 Load A with “R"™
JSR 20 7216 Print "R"
LDA A9 52 Load A with "R"
JSI 20 7216 Print "R"
LDA A9 4F toad A with *o"
JSR 20 7216 Print "¢
LDA a9 52 Load A with "R"
ISR 20 7216 Print “R"
JSR 20 7377 Type a space
JMP 4C u400 Go back to beginning & wait for "L*

REQUIRES TIM ROM AT 7000—PROGRAM LENGTH: 215 BYTES
PROGRAM OPERATION

This program waits for you 1o type in "LIST’. Anything else cavises it
to type “ERROR™ and waits for you to type "LIST " again. Afrer typing
“LIST' ir will then respond with ¢ space and wait for the gddress of the
start of the list in hex. After typing that In, it responds with another
space gnd waits for the ending address of the list. After typing that in, it
respopds with a carriage returit and line feed, iypes the starting address,
types 2 spaces and 16 bytes each separated by a space, after 16 bytesit
does ¢ CRILF, prints the starting address plus 16 and then 16 more bytes
until the ending address is reached. At rhis point, controf is returned to

I

TIM which responds with ¢ CRLEF and the prompting cheracter “.








